
MARCFI-ANCAS

Rel. 2012-01301547

COFFEE MACHINES

Spare parts for:

This catalogue is automatically generated. 
Therefore, the sequence of the items might 
not be always shown at best.
Updates will be issued in case of additions
and/or amendments.

This document may not include universal spare parts

Suitable for:



COFFEE GROUP MOD. ANCAS

Positions without LF code no.: upon request

pg.    2

MARCFI-ANCAS 



Position LF code no. Description

pg.    3

MARCFI-ANCAS 

   1 1120330 3-WAY SOLENOID VALVE LUCIFER 240V 50Hz

   1 1120335 3-WAY SOLENOID VALVE PARKER 230V 50/60Hz

   2 1120334 3-WAY MECHANICAL COMPONENT LUCIFER

   2 1120339 3-WAY MECHANICAL COMPONENT PARKER

   3 1120332 COIL LUCIFER 483510S6 220/240V 9W 50Hz

   3 3120032 COIL PARKER ZB09 9W 220/240V 50/60Hz

   4 1455034 S/S SCREW T.C.C.E.I M4x10 UNI 5931

   9 1240731 PERMANENT MAGNET

  14 1186611 O-RING 02025 RED SILICONE

  14 1186612 O-RING 02025 VITON

  16 1449553 DRAIN PIPE

  18 1186181 FILTER HOLDER GASKET ø 73x59x7.5 mm

  18 1186753 FILTER HOLDER GASKET ø 73x59x7 mm

  21 1081052 SHOWER ø 62 mm



STEAM TAP

Positions without LF code no.: upon request

pg.    4

MARCFI-ANCAS 



Position LF code no. Description

pg.    5

MARCFI-ANCAS 

   1 1348372 WATER/STEAM TAP

   2 1241343 STEAM TAP KNOB

   3 1186346 O-RING 02043 EPDM

   4 1241341 WATER/STEAM TAP KNOB

   9 1449060 STEAM PIPE COMPLETE

  10 1449059 STEAM PIPE COMPLETE



SIGHTGLASS ASSEMBLY

Positions without LF code no.: upon request

pg.    6

MARCFI-ANCAS 



Position LF code no. Description

pg.    7

MARCFI-ANCAS 

   1 1186709 O-RING 0115 VITON

   1 1186745 O-RING 0115 RED SILICONE

   1 3060608 O-RING O3050 EPDM

   2 1520542 LEVEL GLASS ø 13x114 mm

   3 1186173 FLAT EPDM GASKET ø 16.5x10x12.5 mm

   4 1520543 LEVEL GLASS ø 13x210 mm

   5 1186709 O-RING 0115 VITON

   5 1186745 O-RING 0115 RED SILICONE

   5 3060608 O-RING O3050 EPDM

   6 1520008 LEVEL GLASS ø 13x125 mm



WATER INLET TAPS

Positions without LF code no.: upon request

pg.    8

MARCFI-ANCAS 



Position LF code no. Description

pg.    9

MARCFI-ANCAS 

   4 1186758 FLAT EPDM GASKET ø 10x4.5x4 mm

  16 1348374 WATER INLET TAP



VALVES

Positions without LF code no.: upon request

pg.   10

MARCFI-ANCAS 



Position LF code no. Description

pg.   11

MARCFI-ANCAS 

   5 1186758 FLAT EPDM GASKET ø 10x4.5x4 mm

  11 1523422 NON-RETURN VALVE  ø 3/8"M-3/8"M

  12 1523423 NON-RETURN VALVE ø 3/8"M-3/8"F



FILTER HOLDER

Positions without LF code no.: upon request

pg.   12

MARCFI-ANCAS 



Position LF code no. Description

pg.   13

MARCFI-ANCAS 

   1 1160251 1 CUP FILTER 6 g

   1 1160252 2-CUP FILTER 12 GRAMS

   1 1160335 1 CUP FILTER 7 g

   1 1160337 2-CUP FILTER 14 GRAMS

   1 1160339 BLIND FILTER

   2 1250101 FILTER BLOCKING SPRING ø 1,00 mm INOX

   3 1165067 FILTER HOLDER MARCFI-ANCAS

   4 1165066 FILTER HOLDER COMPLETE MARCFI-ANCAS

   5 1241347 FILTER HOLDER HANDLE

   6 1528006 FILTER HOLDER HANDLE SCREW

   7 1022524 DOUBLE SPOUT ø 3/8"

   8 1022501 SINGLE SPOUT ø 3/8"

   9 1160270 FILTER 2 CUPS 14 gr NEW TYPE

   9 1160271 1-CUP FILTER 8 gr

   9 1160273 FILTER 1-CUP 7 GRAMS

   9 1160274 2 CUP FILTER 16 g



BOILER

Positions without LF code no.: upon request

pg.   14

MARCFI-ANCAS 



Position LF code no. Description

pg.   15

MARCFI-ANCAS 

   1 1523536 BOILER VALVE ø 3/8" M AUTO-CERTIFIED

   2 1523534 BOILER VALVE ø 1/4"M

   2 1523537 BOILER VALVE ø 1/4"M

   3 1186635 TRIANGULAR GASKET FOR HEATING ELEMENT

   4 1755091 HEATING ELEMENT 3000W 220V

   4 1755092 HEATING ELEMENT 4000W 220V



MISCELLANEOUS

Positions without LF code no.: upon request

pg.   16

MARCFI-ANCAS 



Position LF code no. Description

pg.   17

MARCFI-ANCAS 

   2 1245512 BOILER PRESSURE GAUGE ø 65 mm 0÷3 bar

   3 1245576 PUMP PRESSURE GAUGE ø 52 mm 0÷15 bar

   5 1057401 SELECTOR SWITCH 0-2 POSITIONS 20A 600V

   5 1319001 SELECTOR SWITCH 0-1 POSITIONS 20A 290V

   5 1319016 SELECTOR SWITCH 0-2 POSITIONS 20A 600V

   5 1319041 SELECTOR SWITCH 0-1 POSITIONS 25A 380V

   7 1319034 WHITE BIPOLAR SWITCH 16A 250V



COFFEE GROUP NEW TYPE M990

Positions without LF code no.: upon request

pg.   18

MARCFI-ANCAS 



Position LF code no. Description

pg.   19

MARCFI-ANCAS 

   2 1501566 NOZZLE M6x1 HOLE ø 0,5 mm

   4 1120335 3-WAY SOLENOID VALVE PARKER 230V 50/60Hz

   5 3120032 COIL PARKER ZB09 9W 220/240V 50/60Hz

   6 1086004 SHOWER HOLDER DIFFUSER

   7 1081051 SHOWER SCREEN ø 54.5 mm

   8 1186181 FILTER HOLDER GASKET ø 73x59x7.5 mm

   8 1186753 FILTER HOLDER GASKET ø 73x59x7 mm

   9 1349381 STAINLESS STEEL SCREW F.SHOWER

  10 1186754 ALUMINUM WASHER ø 21x17x2 mm



Suitable for:

pg.   20

Suitable for:

MARCFI-ANCAS 

Boiler safety valves

1523534 BOILER VALVE ø 1/4"M 1523537 BOILER VALVE ø 1/4"M
stainless steel - new model stainless steel - old model

    

MARCFI-ANCAS  BL-2054  MARCFI-ANCAS  BL-2054  

1523536 BOILER VALVE ø 3/8" M AUTO-CERTIFIED 1523535 BOILER VALVE ø 3/8"M
calibration pressure 1.8 bar calibration pressure 1,8 bar

steam release 6.3 Kg/h steam release 6.3 Kg/h

    

MARCFI-ANCAS  BH-3650 MARCFI-ANCAS  MARCFI-ANCAS  

Clips for pumps

1168011 STAINLESS STEEL CLAMP FOR FLANGE PUMP

    

MARCFI-ANCAS   

Coffee filters

1160504 2 CUPS POD FILTER 1160339 BLIND FILTER

    

MARCFI-ANCAS  MARCFI-ANCAS  BE-5347  

1160273 FILTER 1-CUP 7 GRAMS 1160270 FILTER 2 CUPS 14 gr NEW TYPE
height 25 mm

    

MARCFI-ANCAS  MARCFI-ANCAS  



Suitable for:

pg.   21

Suitable for:

MARCFI-ANCAS 

1160251 1 CUP FILTER 6 g 1160335 1 CUP FILTER 7 g

    

MARCFI-ANCAS  BL-5231  MARCFI-ANCAS  BJ-5344  

1160503 1 CUP POD FILTER 1160271 1-CUP FILTER 8 gr

    

MARCFI-ANCAS  MARCFI-ANCAS  

1160274 2 CUP FILTER 16 g 1160252 2-CUP FILTER 12 GRAMS

    

MARCFI-ANCAS  MARCFI-ANCAS  BJ-5345  

1160337 2-CUP FILTER 14 GRAMS

    

MARCFI-ANCAS  BM-5207   

Coffee groups

1449553 DRAIN PIPE
for brew group

    

MARCFI-ANCAS   

Deflectors

1022502 DOUBLE SPOUT ø 3/8" 1022524 DOUBLE SPOUT ø 3/8"

    

MARCFI-ANCAS  MARCFI-ANCAS  BL-2069  



Suitable for:

pg.   22

Suitable for:

MARCFI-ANCAS 

1022501 SINGLE SPOUT ø 3/8" 1022503 STRAIGHT SINGLE SPOUT ø 3/8"

    

MARCFI-ANCAS  BJ-5352  MARCFI-ANCAS  

Filter holder gaskets

1186753 FILTER HOLDER GASKET ø 73x59x7 mm 1186181 FILTER HOLDER GASKET ø 73x59x7.5 mm
with external cuts

    

MARCFI-ANCAS  MARCFI-ANCAS  E-107R  

1186883 FILTER HOLDER GASKET ø 73x59x8.5 mm

    

MARCFI-ANCAS   

Filter holders

1165066 FILTER HOLDER COMPLETE MARCFI-ANCAS 1165067 FILTER HOLDER MARCFI-ANCAS
spout connection ø 3/8" - screw handle connection spout connection ø 3/8" - screw handle connection

wings 8 mm - spring and filter not included wings 8 mm

    

MARCFI-ANCAS  MARCFI-ANCAS  

Gas valves and accessories

1523422 NON-RETURN VALVE  ø 3/8"M-3/8"M 1523014 NON-RETURN VALVE ø 3/8"M-3/8"F

    

MARCFI-ANCAS  MARCFI-ANCAS  



Suitable for:

pg.   23

Suitable for:

MARCFI-ANCAS 

1523423 NON-RETURN VALVE ø 3/8"M-3/8"F 1348372 WATER/STEAM TAP

    

MARCFI-ANCAS  MARCFI-ANCAS  BM-2108  

Gaskets and seals

1186228 ASBESTOS FREE FLAT GASKET 90x31x1 mm 1186344 CONICAL TEFLON SEAL ø 14.5x7x6 mm
for level glass for water/steam pipe

    

MARCFI-ANCAS  MARCFI-ANCAS  

1186619 COPPER FLAT GASKET ø 18x14x1.5 mm 1186620 COPPER FLAT GASKET ø 22x17x1.5 mm

    

MARCFI-ANCAS  MARCFI-ANCAS  

1186758 FLAT EPDM GASKET ø 10x4.5x4 mm 1186173 FLAT EPDM GASKET ø 16.5x10x12.5 mm
for level

    

MARCFI-ANCAS  MARCFI-ANCAS  

1186230 O-RING GASKET 0164 EPDM 3060608 O-RING O3050 EPDM

    

MARCFI-ANCAS  MARCFI-ANCAS  

1186304 O-RING 0112 EPDM 1186745 O-RING 0115 RED SILICONE

    

MARCFI-ANCAS  MARCFI-ANCAS  



Suitable for:

pg.   24

Suitable for:

MARCFI-ANCAS 

1186709 O-RING 0115 VITON 1186749 O-RING 0189 EPDM

    

MARCFI-ANCAS  MARCFI-ANCAS  

1186611 O-RING 02025 RED SILICONE 1186612 O-RING 02025 VITON

    

MARCFI-ANCAS  MARCFI-ANCAS  

1186411 O-RING 02031 EPDM 1186803 O-RING 02037 EPDM

    

MARCFI-ANCAS  TFK-5153  MARCFI-ANCAS  

1186346 O-RING 02043 EPDM 3186343 O-RING 02106 EPDM

    

MARCFI-ANCAS  A-266  MARCFI-ANCAS  K-103  

1186762 O-RING 03056 SILICONE 3243142 O-RING 04118 EPDM

    

MARCFI-ANCAS  MARCFI-ANCAS  

1186171 ROUND COPPER GASKET ø 22x16.5x2.2 mm 1186186 ROUND COPPER GASKET ø 23x17x3 mm

    

MARCFI-ANCAS  MARCFI-ANCAS  



Suitable for:

pg.   25

Suitable for:

MARCFI-ANCAS 

1186584 TRIANGULAR GASKET FOR HEATING ELEMENT 1186635 TRIANGULAR GASKET FOR HEATING ELEMENT
free of asbestos universal carbo

dimensions 70x70x2 mm - internal hole ø 40 mm dimensions 70x70x2 mm - internal hole ø 40 mm

    

MARCFI-ANCAS  MARCFI-ANCAS  AB-425E  

1786006 TRIANGULAR GASKET FOR HEATING ELEMENT
teflon

dimensions 70x70x2 mm - internal hole ø 40 mm

    

MARCFI-ANCAS   

Heating elements

1755091 HEATING ELEMENT 3000W 220V 1186635 TRIANGULAR GASKET FOR HEATING ELEMENT
immersed length 360 mm - 4 poles universal carbo

distance between the holes 52 mm dimensions 70x70x2 mm - internal hole ø 40 mm

flange 72x72 mm

for coffee machines with 2 groups

    

MARCFI-ANCAS  BM-20832  MARCFI-ANCAS  AB-425E  

1755092 HEATING ELEMENT 4000W 220V 1186635 TRIANGULAR GASKET FOR HEATING ELEMENT
immersed length 470 mm - 4 poles universal carbo

distance between the holes 52 mm dimensions 70x70x2 mm - internal hole ø 40 mm

flange 72x72 mm

for coffee machines with 3 groups

    

MARCFI-ANCAS  BM-20833  MARCFI-ANCAS  AB-425E  

Ironmongery (screws-nuts-washers-etc.)

1186754 ALUMINUM WASHER ø 21x17x2 mm 1528006 FILTER HOLDER HANDLE SCREW

    

MARCFI-ANCAS  MARCFI-ANCAS  BL-5005  



Suitable for:

pg.   26

Suitable for:

MARCFI-ANCAS 

1528621 NUT M8x1 1455034 S/S SCREW T.C.C.E.I M4x10 UNI 5931

    

MARCFI-ANCAS  K-93  MARCFI-ANCAS  

1528622 S/S SCREW T.E. M8x16 UNI 5739 DIN 24017 1528052 SCREW M3x10

    

MARCFI-ANCAS  K-89  MARCFI-ANCAS  

1349381 STAINLESS STEEL SCREW F.SHOWER

    

MARCFI-ANCAS  BM-5257   

Jets / nozzles

1501531 NOZZLE ø 8 HOLE ø 0.7 mm 1501566 NOZZLE M6x1 HOLE ø 0,5 mm
for brew group for brew group

    

MARCFI-ANCAS  07362106  MARCFI-ANCAS  BM-5157  

Knobs

1241343 STEAM TAP KNOB 1241341 WATER/STEAM TAP KNOB

    

MARCFI-ANCAS  MARCFI-ANCAS  BL-3046  

1241342 WATER/STEAM TAP KNOB 1241372 WATER/STEAM TAP KNOB

    

MARCFI-ANCAS  MARCFI-ANCAS  



Suitable for:

pg.   27

Suitable for:

MARCFI-ANCAS 

Knobs for filterholder

1241347 FILTER HOLDER HANDLE

    

MARCFI-ANCAS  BL-5004   

Microswitches

3240123 MICROSWITCH 16A 250V
for ROBOT COUPE MIXER MP550A-MP600A

for PRIMUS WASHING MACHINE P6-P7

for PRIMUS DRYER T9-T11-T13-T16-T24-T35

for POLIMATIC WASHING MACHINE P65-P75

for POLIMATIC DRYER T9-T11-T13-T16-T24-T35

for GIRBAU WASHING MACHINE HS2007-HS2012-HS4007

HS4012-HS4022-HS4110

for GRANDIMPIANTI WASHING MACHINE WFM22

for SAECO 3P-5P-8P-FS400-CRISTALLO600

for NECTA VENDING ASTRO-ASTROP-BRIO250-BRIO3-BRIOC

CAPRI-COILIBRI-FIRENZE-HYPERION-KIKKO-KIKKOMAX

KIKKORY-OBLO-ROMA-SILVER3-SILVER7-SPAZIO-VENEZIA

ZENITH

for MORETTI OVEN M90C-M130C

    

MARCFI-ANCAS  K-18   

Pressure gauges

1245512 BOILER PRESSURE GAUGE ø 65 mm 0÷3 bar 1245576 PUMP PRESSURE GAUGE ø 52 mm 0÷15 bar
single scale 0÷3 bar - connection ø 1/4"M single scale 0÷15 bar - connections ø 1/4"M

rim ø 71 mm - body ø 65 mm rectangular dial 56x79 mm

    

MARCFI-ANCAS  MARCFI-ANCAS  



Suitable for:

pg.   28

Suitable for:

MARCFI-ANCAS 

Pressure switches

1320533 MEMBRANE KIT FOR PRESSURE SWITCH 1320531 PRESSURE SWITCH P302/6 3-POLES 30A
model P302-6 ø 55 mm CE-SEV-ASE-UL approved

ISO 228 G connection 1/4"M for pipe ø 4x6 mm

adjustable scale 0.5÷1.4 bar

fixed differential 0.15 (ÿ 0.06) bar

fluid temperature max :140°C

max contact  load : 220V  7KW (30A)

400V 12KW (30A)

    

MARCFI-ANCAS  MARCFI-ANCAS  

Regulators and level sensors

1341751 LEVEL PROBE ø 1/4"M-150 mm

    

MARCFI-ANCAS   

Rotary switches

1319001 SELECTOR SWITCH 0-1 POSITIONS 20A 290V 1319041 SELECTOR SWITCH 0-1 POSITIONS 25A 380V
square pin 5x5 mm square pin 5x5 mm

for WEGA ATLAS-NOVA-ORION for BEZZERA B2000

    

MARCFI-ANCAS  MARCFI-ANCAS  

1057401 SELECTOR SWITCH 0-2 POSITIONS 20A 600V 1319016 SELECTOR SWITCH 0-2 POSITIONS 20A 600V
D-shaped shaft 6x4.6 mm square pin 5x5 mm

for BEZZERA ELLISSE for CIMBALI JUNIOR-M20-M21-M22-M27-M28-M29-M30-M31

M32-M39

for FAEMA E98COMPACT-EMBLEMA-ENOVA1GR

    

MARCFI-ANCAS  MARCFI-ANCAS  



Suitable for:

pg.   29

Suitable for:

MARCFI-ANCAS 

Showerholder diffusers

1086004 SHOWER HOLDER DIFFUSER
external ø 59 mm - height 6.5 mm - hole ø 10 mm

    

MARCFI-ANCAS  BH-5920T   

Showers for brew group

1081052 SHOWER ø 62 mm 1081051 SHOWER SCREEN ø 54.5 mm

    

MARCFI-ANCAS  MARCFI-ANCAS  BJ-5394  

Solenoid valves

3120034 COIL CONNECTOR PG9 1120332 COIL LUCIFER 483510S6 220/240V 9W 50Hz
width 32 mm - height 38 mm

depth 43 mm

    

MARCFI-ANCAS  MARCFI-ANCAS  

3120032 COIL PARKER ZB09 9W 220/240V 50/60Hz 1240731 PERMANENT MAGNET
width 34 mm - height 33 mm

depth 43 mm

    

MARCFI-ANCAS  BH-2150B  MARCFI-ANCAS  

1120334 3-WAY MECHANICAL COMPONENT LUCIFER 1120339 3-WAY MECHANICAL COMPONENT PARKER
E131F4304G - drain ø 1/8" conical - max 10 bar VE128IR - drain ø 1/8" conical - max 10 bar

RUBY seal - orifice ø 1.5 mm RUBY seal - orifice ø 1.3 mm

fluid temperature -30°C+140°C fluid temperature -30°C+140°C

    

MARCFI-ANCAS  MARCFI-ANCAS  



Suitable for:

pg.   30

Suitable for:

MARCFI-ANCAS 

1120330 3-WAY SOLENOID VALVE LUCIFER 240V 50Hz 1120332 COIL LUCIFER 483510S6 220/240V 9W 50Hz
E131F4304 - drain ø 1/8" conical - max 10 bar width 32 mm - height 38 mm

RUBY seal - orifice ø 2.5 mm depth 43 mm

with coil 483510S6 9W 220/240V 50/60Hz

fluid temperature -40°C+140°C

    

MARCFI-ANCAS  MARCFI-ANCAS  

1120334 3-WAY MECHANICAL COMPONENT LUCIFER
E131F4304G - drain ø 1/8" conical - max 10 bar

RUBY seal - orifice ø 1.5 mm

fluid temperature -30°C+140°C

    

MARCFI-ANCAS   

1120335 3-WAY SOLENOID VALVE PARKER 230V 50/60Hz 3120032 COIL PARKER ZB09 9W 220/240V 50/60Hz
VE128IR - drain ø 1/8" conical - max 10 bar width 34 mm - height 33 mm

RUBY seal - orifice ø 1.3 mm depth 43 mm

with coil ZB09 9W 220/230V 50/60Hz

fluid temperature -30°C+140°C

    

MARCFI-ANCAS  BH-2150  MARCFI-ANCAS  BH-2150B  

1120339 3-WAY MECHANICAL COMPONENT PARKER
VE128IR - drain ø 1/8" conical - max 10 bar

RUBY seal - orifice ø 1.3 mm

fluid temperature -30°C+140°C

    

MARCFI-ANCAS   

Springs

1250101 FILTER BLOCKING SPRING ø 1,00 mm INOX 1250226 TAP PIPE SPRING ø 11x24 mm

    

MARCFI-ANCAS  TMD-5039  MARCFI-ANCAS  



Suitable for:

pg.   31

Suitable for:

MARCFI-ANCAS 

Steam/water pipes coffee machines

1449387 COMPLETE WATER PIPE 1449059 STEAM PIPE COMPLETE
for MARCFI M920-M990 until 03/2005

    

MARCFI-ANCAS  MARCFI-ANCAS  BM-2022 MARCFI-ANCAS  BM-2113  

1449060 STEAM PIPE COMPLETE 1449386 STEAM PIPE COMPLETE
for MARCFI M920-M990

    

MARCFI-ANCAS  BM-2104  MARCFI-ANCAS  

1449388 STEAM PIPE COMPLETE

    

MARCFI-ANCAS   

Switches

3319294 BLACK BIPOLAR SWITCH 16A 250V 3319035 ORANGE BIPOLAR SWITCH 16A 250V
with red led indicator light with indicator lamp

mounting hole 30x22 mm mounting hole 22x30 mm

for GRIMAC COFFEE POD NEWCIALDAVAPOR/VAPORDOUBLE

    

MARCFI-ANCAS  K-69  MARCFI-ANCAS  

3319934 ORANGE BIPOLAR SWITCH 16A 250V
with indicator lamp

0-1 silk-screen printing

max temperature 120°C

mounting hole 22x30 mm

    

MARCFI-ANCAS   



Suitable for:

pg.   32

Suitable for:

MARCFI-ANCAS 

3319421 RED BIPOLAR PUSH BUTTON 16A 250V 3319532 COVER FRAME
mounting hole 22x27 mm

    

MARCFI-ANCAS   

3319530 PUSH-BUTTON PROTECTION CAP

    

1319034 WHITE BIPOLAR SWITCH 16A 250V
silk-screen printing 0-I

mounting hole 22x30 mm

    

MARCFI-ANCAS   

Water filling taps

1348373 WATER INLET TAP 1348374 WATER INLET TAP

    

MARCFI-ANCAS  MARCFI-ANCAS  BL-2011  

Water level gauges

1520542 LEVEL GLASS ø 13x114 mm 1520008 LEVEL GLASS ø 13x125 mm
for M990-M920-A93

    

MARCFI-ANCAS  MARCFI-ANCAS  BL-5131  



Suitable for:

pg.   33

Suitable for:

MARCFI-ANCAS 

1520543 LEVEL GLASS ø 13x210 mm

    

MARCFI-ANCAS   



The data herewith contained may change without notice and LF SpA cannot be 

held responsible for possible errors stated or resulting by the use of this document.

All rights reserved. No part of this publication may be reproduced without written 

permission by LF SpA.


	Boiler safety valves
	Clips for pumps
	Coffee filters
	Coffee groups
	Deflectors
	Filter holder gaskets
	Filter holders
	Gas valves and accessories
	Gaskets and seals
	Heating elements
	Ironmongery (screws-nuts-washers-etc.)
	Jets / nozzles
	Knobs
	Knobs for filterholder
	Microswitches
	Pressure gauges
	Pressure switches
	Regulators and level sensors
	Rotary switches
	Showerholder diffusers
	Showers for brew group
	Solenoid valves
	Springs
	Steam/water pipes coffee machines
	Switches
	Water filling taps
	Water level gauges

